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It is by 55 if | draw a bar into the line of 55U ten. If | let a shaku stretch and contract not to make any rest diagonally even
for 5b% even for expectation, 4% when it is difficult to divide 11 lines for 354" 8b¥ and mark it and pull a bar, | can divide. In
addition, I mark it as wrote from other corner earlier and | expose a ruler and should pull it aside when it goes down in
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As for us, a problem, "I put a ruler and measured length Y" erstand a meaning after the textbook of the junior Bunntousvu
equally” wrestled. high school was handed to a teacher and was able to Y

I can demand this problem using "the resemblance” solve a problem. Through this experience, | felt that the L

to learn at a junior high school of Japan. old mathematics was very tough. FR1E
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